fEHlAF 2021

/(&) Ao ko

NA::]M%~

Bra= Fa+Ta .  Fa= uNa (4940 s )

B: Ta=mg+Tl
C‘TL=m‘i

(i) TA= 1'“5+TL = Mg+ img =2|‘a_

61 Fa= Bxa-Te= Raa-2mg

(i) j,.[\u : Fh §3 e P, a""L“‘i
Na ™)
Cp) it’m a = Rx -).«'NA—T
Na=im F
s Na
A b <
]
) ma = B2 — mwwmg T / ilh}
mo = T-hj ﬁ“
G) 2ma = RX - pimg-m9
7 z—%—_‘a- '}.3(/‘"‘") T = ':Im"")“"‘a‘”"’)
@) =y x (xa-xb) == wwslxa-xy)
Gvy TFL{- f1 $m]’ﬂ % TR 3
-—}A'haj(xux&.) = (Lzﬁll:*haj [)lwa;,))— %BPI:
coo= B x) E -2m
2 11Mjf15—'; Sk R (atxt) e k Qa+p) - 2m3

o) ij 7_":

"3



faAF 2021

R
2 ) &) n = lf = 3{5 _:‘28'; I A
f 3 \ (o) 5
: X ' A\hy/ o >x
i = ke s 2 y
@ xs = t, b + t.}/ t, = ey e
x
G;:) ,VLI. - 'h,lr = .——&—-— t=t4 d
G fe el Xd | _bery | (UmeV vt o
xRy v s Y i ;
) Gy d = Xxa=1aY Y.
G d= 2t AT = T f
i A

Gy me = fixat = )(AT- ‘b-:,-k\/

d -vrat  d-brat
:r\z = — =

v) L= ~ me %

4’[ ’Cf rr 4V i 5 }(-1. vR

¢ / Y- br




faHlAF 2021

> |
AD )
B A Vi
g = A T
_ Vo [
®) P = o (NI +Nexs) = NI = ﬁl [ &Y
T
'I_:__,__
Y
tey—to2T¢=19 \{|=0=~N(ZA% ) %w 4B zfzib“ﬁ‘d—»%én:‘czﬁ\uh?
o 2VaT
(%) t:ZTa\\C:: @:%E ) :nfgﬁ‘Sf({LL?hfal\ Nl.‘
VAV 2V
(H O(NIII': N &Y I =7%
AR _ AN aL
() Wp T ANzl = ’Nx"% = —d“,"’j—}% () Li=allr
(l)') VZﬁ_NL—:——%:—ng—N—rI\!:"WINI% (2) M=dNIN2
A

(k) (D \/‘=~Nli§=—\/o 15 a8\

S At Ny
\/z=‘Nz% = —Nz\ﬁ=-—%‘t\lo
VAR AL 4 P _'i;:—:’%

(ir L=Tonje2 |B 22—0} ‘Tzv%
B = o7 (e Ty | NajTe TR RS
Wt (v
AN Ty = X;QTT J,"”:;:"
N ';(\’SE T+ “:"L)



faHlAF2021

¥ vy eV
) BR XM BET ) LL2 c:\/z%g '
¢!
LN N =N Ve e BE (heLz) eVs %0‘2 @ Ao = éT;

Lahne Vetac3ie (1ht-p189ne) i EER % <53 o H<sYy
) BRAX B L2 dns Bt ohIat EFo 2fut-12fkfGL T G
FER BB afitr, -39 ed Fart s L1t AA Xy Bhis ®h5Bn

6.63 %057 e z00ers® _ 1499 x 107
1.6s <1o™" x 3.5 x10% Shox 107"

e P = 3.$fxlo-"

Cb) ,
s\_‘ ; () 28 A 8%  2dseb
PP 1) 2dsmB = MmA
i (%) Sin B = X = ]'k4}4/04

24 2-3.43=<l/7(°

= 0.2244--

gafddy 3



